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E ¢1524 | 1829 | 2032 | 2032
EZE(mm) 12 12 12 16
Tm=Z Y B {fi () 161,000 [ 194,000 | 215,000 | 286,000
ImHBYEE (kg) 447 537 597 796
Fimr— 0 MIEEH) (H) 20,000 | 24,000 | 28,000 | 46,000
ENMELRYEE (ke) 45 54 60 80
Seimr— U MIEKA) (H) 52,000 | 61,000 | 72,000 [ 102,000
HAEHYEE (ke) 90 108 120 160
HEEY(BARER) &l (M) 300,000 | 300,000 | 300,000 | 300,000
HECYS(BAER) #E (@) 20 20 20 20
HEE Y (EEEA) &l (M) 375,000 | 450,000 | 525,000 | 525,000
HBEEYN(EEER) %E (@) 25 30 35 35
sME $1590 | 1890 | 2090 | #2090 | 2590
EE(mm) 12 12 12 16 19
Tm4 L) B {f () 168,000 | 200,000 | 221,000 | 294,000 | 434,000
ImBYEE (kg) 466 555 615 818 1,206
Fimr—> 0 MIE(ER) () 22,000 | 26,000 | 30000 | 48,000 | 82,000
EFXNMERYEE (ke) 47 56 62 82 121
Fimr—> 0 MIE A (M) 52,000 | 61,000 | 72,000 | 102,000 | 142,000
HAELHYEE (ke) 94 112 124 164 242
HEE Y (BARER) Bl (M) 300,000 | 300,000 | 300,000 | 300,000 | 300,000
HBEEYN(MAER) %E (@) 20 20 20 20 20
HREE b~ (BEE EMA) B (M) 375,000 | 450,000 | 525,000 | 525,000 | 600,000
HEEY(EEER) % E (@) 25 30 35 35 40
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R 15 f/i %E‘ﬁmﬁ 1&; /é;) HE#J{ ?éﬁ?ﬁﬂ- 1/%*;%%
® 1500 REERER 576 383,000 27,000 18,000
¢ 1800 FREERER 941 630,000 35,000 24,000
@ 2000 REERER 1,236 869,000 44,000 30,000
® 2500 FREEREDR 1,280,000 64,000 40,000




LARHGT L ##iak—8x%

% W R — 29 (2.5m%)
L7RHGT
IH B ¢ 1524 ¢ 1829 ¢ 2032
E = (kg) 12,500 1,418 1,702 1,892
H AW (FA) 80,000 709 851 946
it & (%) 8 5150 5150 §xFA15ME]
FRIELE
(B 600
1EERRFRE
FRIEEE
(/) 100
EERH
FRIEEE
(/) 145
HEBH
3 A =
(%) 45
EEER
F£ M
(%) 9
EEER
S ED) EED, EED, EED,
(x107°) 438
B oH 60,000 60,000 60,000
1S ED) 35,040 EED EED EHY
()
B #H (234,768/H) 42,540 51,060 56,760
S R H M 0 HEEEIL. ERG. TR 0 ok E LT,

HELH L 0B = 1IRFRHE D HREX6. TH




B W xR —09 (25m%) (3.0m%)
LARHGT
EH B ¢ 1590 ¢ 1890 ® 2090 ® 2590
g = (kg) 12,500 1,484 1,764 1,970 3,534
H AW (FH) 80,000 742 882 985 1,767
it FA 25 3% (%) 8 LA 150 L1501 #xFA15[m] gL F15ME]
FRIEE
(B 600
1EERRFRE
FRIEE
(/) 100
EERH
FRIEE
(/) 145
HEBH
3 A =
(%) 45
EEER
F£ M
(%) 9
BHEHER
1BfEHY EED) EED) EED) EED)
(x107°) 438
B A E 60,000 60,000 60,000 60,000
1LY 35,040 EED, EED, EED, EED,
(F)
B #® (234,768/H) 44,520 52,920 59,100 106,020
= TEERL H Y 0 HEREIT . EfRe. TR » ok e LET,

HERLH Y Y B =

IIRFE % v $8kkx6. TH




